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St YR 17 (41.5) 10 (24.4) 14 (34.1) 41 (100.0) 85

A< 9 (19.6) 13 (28.3) 24 (52.2) 46 (100.0) 77

AT (F=/A5H) 1 (7.1 3 (21.4) 10 (71.4) 14 (100.0) 19

715t 1 (100.0) 0 (0.0) 0 (0.0) 1 (100.0) 3

] 21 (35.0) 28 (46.7) 11 (18.3) 60 (100.0) N.A

A 180 180 180 540 950
FARS = (& =985 x 4 EA 4 @A

Total Score = X (Si - Ni)

Sit Score at each class (3 for class 1 and 1 for class 3)

Ni: Number of respondents at each class
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- . =9 27 59 A eES
(33 23 13 RAeXx5
AFFA 109 (68.1) 41 (25.6) 10 (6.3) 160 (100.0) 419
ATEA 50 (32.9) 68 (44.7) 34 (22.4) 152 (100.0) 320
JHWF A 10 (6.8) 37 (25.2) 100 (68.0) 147 (100.0) 204
718 1 (50.0) 0 (0.0 1 (50.0) 2 (100.0) 4
R 10 (12.7) 34 (43.0) 35 (44.3) 79 (100.0) N.A
Al 180 180 180 540 (100.0) 947
TR = & =94 x 4 SHA ) S
Total Score = X(Si - Ni)

Si: Score at each class (3 for class 1 and 1 for class 3)

Ni: Number of respondents at each class
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(& 23) skge] Askache 7bg HEshe ZoAE B

- 1&9] 229 39 q A 2
(34) (34) (34) X&

EQY 61 (45.5) 51 (38.1) 22 (16.4) 134 (100.0) 307
B ozt 62 (47.7) 43 (33.1) 25 (19.2) 130 (100.0) 297
gl 71 35 (60.3) 10 (17.2) 13 (22.4) 58 (100.0) 138
Ja9l 0 (0.0) 32 (46.4) 37 (53.6) 69 (100.0) 101
1-2% BolA 9 (13.2) 14 (20.6) 45 (66.2) 68 (100.0) 100
7€ 0 (0.0) 0 (0.0) 1 (100.0) 1 (100.0) 1
nog 13 (16.3) 30 (37.5 37 (46.3) 80 (100.0) N.A
A 180 180 180 460 (100.0) 944

FAES = (@ 985 x 4 SHR 4

Total Score = X (Si - Ni)

Si: Score at each class (3 for class 1 and 1 for class 3)
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CE 24y 294 Hste] A B B0 BRI (R, 9, 259
7 2 e B | e BE | oRFde | A9 @8] ®ew | AA |@aEs
A o 3 2.4 8 (6.3) 6 (4.7 1 (0.8) 1 (0.8) | 108 (85.0) 127 (100.0) 71.6
E o 0 0.0) 2 (3.8 4 (1.5 1 (1.9 0 (0.0) 46 (86.8) 53 (100.0) 62.9
20t 0 0.0) 3 (5.3 4 (7.0) 1 (1.8) 1 (1.8 48 (84.2) 57 (100.0) 60.0
i 30 0 (0.0) 2 34 3 (5.1 0 (0.0) 0 (0.0) 54 (91.5) 59 (100.0) 68.0
3 40ty 3 (6.0) 4 (8.0) 3 (6.0) 1 (2.0 0 (0.0) 39 (78.0) 50 (100.0) 76.4
50TH 0 (0.0) 1 (1.7 0 (0.0) 0 (0.0) 0 (0.0) 12 (92.3) 13 (100.0) 80.0
60TH 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 1 (100.0) 0.0
ALA sHAY 0 0.0 1 (4.0) 2 (8.0) 0 (0.0) 1 (4.0) 21 (84.0) 25 (100.0) 55.0
At 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0) 5 (100.0) 5 (100.0) 0.0
5371 2 2.7 5 (6.7 4.3 (5.8) 2 Q2.7 0 (0.0) | 60.8 (82.0) | 74.2 (100.0) 70.5
& B 7| 0 0.0) 2 (23.1) | 03 (3.8 0 (0.0) 0 (0.0) 6.3 (73.1) 8.7 (100.0) 77.1
s st () 1 (6.5) 0 (0.0) 1 (6.5) 0 (0.0) 0 (0.0) | 13.5 (87.1) 15.5 (100.0) 80.0
B AT/ 0 (0.0) 1 (5.9 1 (5.9 0 (0.0) 0 (0.0) 15 (88.2) 17 (100.0) 70.0
B 0 (0.0) 1 (8.6) 0.3 (2.9 0 (0.0) 0 (0.0) | 10.3 (88.6) 11.7 (100.0) 75.0
oA Ravae R s 0 (0.0) 0 (0.0) 0.0) 0 (0.0) 0 (0.0) 20 (100.0) 20 (100.0) 0.0
7| e 0 0.0) 0 (0.0) 1 (33.3) 0 (0.0) 0 (0.0) 2 (66.7) 3 (100.0) 60.0
A & A 3 (1.7 10 (5.6) 10 (5.6) 2 (I.D 1 (0.6) | 154 (85.6) 180 (100.0) 69.2
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CE 25 29A diste] gl a=

3 % Be Be | BE | RE | AL [Ad G| TSR | AA
1d mgt 0 (0.0) 1 (10.00 1 (10.0) 0 (0.0 0 (0.0 8 (80.0) 10 (100.0)
Idol4y 3dm|gt 0 (0.0) 0 (0.0) 1 (4.0) 0 (0.0) 0 (0.0) 24 (96.0) 25 (100.0)
% 3dold 10w gt 0 (0.0) 2 (4.8 1 Q24 1 (2.4) 0 (0.0) 38 (90.5) 42 (100.0)
o | 10dol 20 mfRt 2 (4.8 3 (1.D 4 9.5 1 (2.4 0 (0.0) 32 (76.2) 42 (100.0)
) 209 ol%F 1 3.7 2 (1.4) 0 (0.0) 0 (0.0 0 (0.0) 24 (88.9) 27 (100.0)
o 0 (0.0) 2 (5.9 3 (8.8 0 (0.0 1 2.9 28 (82.4) 34 (100.0)
=4 2 (2.3) 5.5 (6.4) 5 (5.8) 2 (2.3) 0 (0.0) |71.3 (83.1) 85.8 (100.0)
o4 0 (0.0) 1.5 (23.1) 0 (0.0) 0 (0.0) 0 (0.0) 5 (76.9) 6.5 (100.0)
= Az 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 2.5 (100.0) 2.5 (100.0)
Nian 0 (0.0) 2 (4.3) 3 (6.5 0 (0.0) 1 (2.2) | 403 (87.1) 46.3 (100.0)
A [ BE/AF 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 5.5 (100.0) 5.5 (100.0)
A7 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 5 (100.0) 5 (100.0)
o A 1 (15.8) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 5.3 (84.2) 6.3 (100.0)
71Et 0 (0.0) 0 0.0) 1 (12.5) 0 (0.0) 0 (0.0) 7 (87.5) 8 (100.0)
o 0 (0.0) 1 (7.1 1 (7.1 0 (0.0) 0 (0.0) 12 (85.7) 14 (100.0)
a4 & A 3.7 10 (5.6) 10 (5.6) 2 (1.D 1 (0.6) | 154 (85.6) 180 (100.0)
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CE 260 497 diste] A TR Folo) WMEE(PE, 4, 229
T 2 ne we | e BE e | AY 98| w$ A4 | gaEs
A o 16 (12.6) | 32 (25.2) 38 (29.9) | 13 (10.2) 1 (0.8 27 (21.3) 127 (100.0) 69.8
E o 5 (9.4) 19 (35.8) 13 (24.5) 4 (7.5) 1 (1.9 11 (20.8) 53 (100.0) 71.0
20t 6 (10.5 | 24 (42.1 12 (21.D 6 (10.5) 1 (1.8) 8 (14.0) 57 (100.0) 71.4
o 30t 4 (6.8) 14 (23.7) 20 (33.9) | 10 (16.9) 1 (.7 10 (16.9) 59 (100.0) 64.1
40t 9 (18.0) 9 (18.0) 16 (32.0) 1 .0 0 (0.0) 15 (30.0) 50 (100.0) 74.9
K 50t 2 (15.4) 4 (30.8) 3 (23.1) 0 (0.0) 0 (0.0) 4 (30.8) 13 (100.0) 71.8
60ty 0 0.0 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 1 (100.0) 0.0
AL o+ 2 (8.0) 11 (44.0) 4 (16.0) 5 (20.0) 0 0.0 3 (12.0) 25 (100.0) 69.1
At 0 0.0 1 (20.0) 3 (60.0) 1 (20.0) 0 (0.0) 0 (0.0 5 (100.0) 60.0
53718 9.5 (12.8) | 22 (29.7) 23 (31.0) 6 8.1 2 27 | 117 (15.7) 74.2 (100.0) 69.9
ES B 7] 2 (23.1) 0 (0.0) 4 (46.2) 0 (0.0) 0 (0.0) 2.7 (30.8) 8.7 (100.0) 73.3
st () 3.5 (22.6) 2 (12.9) 4 (25.8) 0 (0.0) 0 (0.0) 6 (38.7) 15.5 (100.0) 78.9
& A/ A& 0 (0.0) 9 (52.9 3 (17.6) 3 (17.6) 0 (0.0) 2 (11.8) 17 (100.0) 68.0
He 2 (17.1) 1 (8.6) 6 (51.4) 1 (8.6) 0 (0.0) 1.7 (14.3) 11.7 (100.0) 68.0
571857 2 (10.0) 4 (20.0) 2 (10.0) 1 (5.0) 0 (0.0) 11 (55.0) 20 (100.0) 75.6
7| e 0 0.0 1 (33.3) 2 (66.7) 0 (0.0) 0 (0.0) 0 (0.0) 3 (100.0) 66.7
AA A A 21 (11.7) | 51 (28.3) 51 (28.3) | 17 9.4) 2 (LD 38 (21.1) 180 (100.0) 70.1
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T 2 e Wa s HES | U= | A9 s | F8H- a4 -
1d wmjgt 1 (10.0) 3 (30.0) 2 (20.0) 2 (20.0) 0 (0.0) 2 (20.0) 10 (100.0)
A | 1deld 3duer 4 (16.0) 8 (32.0) 6 (24.0) 3 (12.0) 1 (4.0) 3 (12.0) 25 (100.0)
3dold 10dmgt 2 (4.8 12 (28.6) | 17 (40.5) 5 (11.9) 124 5 (11.9) 42 (100.0)
2 [10dolA; 208 m gt 7 (16.7) | 11 (26.2) | 11 (26.2) 1 Q24 0 (0.0) 12 (28.6) 42 (100.0)
20 o] 4 (14.8) 7 (25.9) 7 (25.9) 1 37 0 (0.0) 8 (29.6) 27 (100.0)
5 3 (8.8) 10 (29.4) 8 (23.5) 5 (14.7) 0 (0.0) 8 (23.5) 34 (100.0)
=4 115 (13.4) | 27 (31.5) | 25 (29.1) 8 (9.3) 2 (2.3) 12.3 (14.4) | 85.8 (100.0)
4 2.5 (38.5) 0 (0.0) 2 (30.8) 0 (0.0) 0 (0.0) 2 (30.8) | 6.5 (100.0)
= Az 0 (0.0) 0 (0.0) 1 (40.0) 0 (0.0) 0 (0.0) 1.5 (60.0) | 2.5 (100.0)
Nien 3 (6.5 9 (19.4) | 11 (23.7) 7 (15.1) 0 (0.0) 16.3 (35.3) | 46.3 (100.0)
d | BE/AF 0 (0.0) | 0.5 9.1 2.5 (45.5) 1 (18.2) 0 (0.0) 1.5 (27.3) | 5.5 (100.0)
A7 0 (0.0) 2 (40.0) 3 (60.0) 0 (0.0) 0 (0.0) 0 (0.0) 5 (100.0)
T |as 1 (15.8) 0 (0.0) 2 (31.6) 0 (0.0) 0 (0.0) 3.3 (52.6) | 6.3 (100.0)
71Et 0 (0.0) 3.5 (43.8) | 45 (56.3) 0 (0.0) 0 (0.0) 0 (0.0) 8 (100.0)
o 3 (21.4) 9 (64.3) 0 0.0) 1 (7.1 0 (0.0) 1 (7.1 14 (100.0)
a4 e 21 (11.7) | 51 (28.3) | 51 (28.3) | 17 (9.4) 2 (LD 38 (21.1) | 180 (100.0)
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(E 28) st AP TR el BEm(4E, AY, £4)

7 2 he we | @ BE | o9 (A 98| w39 A4 | #aEs
Ao 20 (15.7) | 16 (12.6) | 15 (11.8) 4 (3.1 0 (0.0) 72 (56.7) 127 (100.0) 78.9
R 7 (13.2) | 15 (28.3) 4 (7.5 1 (1.9 0 (0.0) 26 (49.1) 53 (100.0) 80.7

20tH 6 (10.5 | 13 (22.8) 7 (12.3) 1 (1.8) 0 (0.0) 30 (52.6) 57 (100.0) 77.8
i 30 9 (15.3) 7 (11.9) 3 (6.D 36D 0 0.0) 37 (62.7) 59 (100.0) 80.0
3 40t 9 (18.0) 8 (16.0) 6 (12.0) 1 (2.0) 0 (0.0) 26 (52.0) 50 (100.0) 80.8
50 3 (23.D 3 (23.D) 2 (15.4) 0 (0.0) 0 (0.0) 5 (38.5) 13 (100.0) 82.5
60TH 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 0.0 1 (100.0) 60.0
ALA s+ 5 (20.0) 9 (36.0) 1 (4.0 0 (0.0) 0 (0.0) 10 (40.0) 25 (100.0) 85.3
A 3 (60.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 100.0
3718 5.5 (7.4) 7.3 (9.9 5 (6.7) 2 2.7 0 (0.00 | 54.3 (73.3) | 74.2 (100.0) 76.5
4 |HATEr|S 0 (0.0) 1.3 (15.4) 0 (0.0) 1 (11.9 0 (0.0) 6.3 (73.1) 8.7 (100.0) 62.9
sk ) 2.5 (16.1) 1 (6.5 5 (32.3) 0 (0.0) 0 0.0 7 (45.2) | 15.5 (100.0) 74.1
5 |da7g/a 3 (17.6) 4 (23.5) 2 (11.8) 1 (5.9 0 (0.0) 7 (41.2) 17 (100.0) 78.0
B 0 (0.0) 1.3 (11.4 3 (25.7) 1 (8.6) 0 (0.0) 6.3 (54.3) | 11.7 (100.0) 61.3
T H/EH 7 (35.0) 7 (35.0) 2 (10.0) 0 (0.0) 0 (0.0) 4 (20.0) 20 (100.0) 86.3
7] e 1 (33.3) 0 (0.0) 1 (33.3) 0 (0.0) 0 (0.0) 1 (33.3) 3 (100.0) 80.0
ZA E | 27 (15.00 | 31 (17.2) | 19 (10.6) 5 (2.8 0 (0.0) 98 (54.4) 180 (100.0) 79.5
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(E 29) tfstde] A TR Folo] wEE (P, FIT
7 % e B | ge BE OB 98 | A 9s | B8 AR
1d =gk 0 (0.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 (0.0) 9 (90.0) 10 (100.0)
1'dol/ 3dm|qt 4 (16.0) 3 (12.0) 2 (8.0 2 (8.0) 0 0.0 14 (56.0) 25 (100.0)
3 3doli 10dwRt 7 (16.7) 4 (9.5) 3 (.D 1 (2.4 0 0.0 27 (64.3) 42 (100.0)
o | 10dol 20 m]Rt 7 (16.7) 6 (14.3) 3 (7.D 2 (4.8 0 (0.0) 24 (57.D) 42 (100.0)
E 204 ol 6 (22.2) 6 (22.2) 5 (18.5) 0 (0.0) 0 (0.0) 10 (37.0) 27 (100.0)
o 3 (8.8 11 (32.4) 6 (17.6) 0 (0.0) 0 (0.0) 14 (41.2) 34 (100.0)
=4 10.5 (12.2) 9.5 (11.1) | 5.3 (6.2) 2 (23 0 (0.0) |58.5 (68.2) | 85.8 (100.0)
o3y 0 (0.0) 1 (15.4) 0 (0.0) 1 (15.4) 0 (0.0) 4.5 (69.2) | 6.5 (100.0)
= A% 0 (0.0) 0 (0.0) 0 (0.0) 0.5 (20.0 0 (0.0) 2 (80.0) | 2.5 (100.0)
i 7.5 (16.2) | 11.5 (24.8) | 8.8 (19.) | 1.5 (3.2) 0 0.0 17 (36.7) | 46.3 (100.0)
o | WA/AT 1 (18.2) 0 (0.0) 1.5 (27.3) 0 (0.0) 0 (0.0) 3 (54.5) | 5.5 (100.0)
At 2 (40.0) 2 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (20.0) 5 (100.0)
™ BT 2 (31.6) 2 (31.6) | 2.3 (36.8) 0 (0.0) 0 (0.0) 0 (0.0) 6.3 (100.0)
7] e 1 (12.5) 1 (12.5) 1 (12.5 0 (0.0) 0 (0.0) 5 (62.5) 8 (100.0)
T3 3 (2149 4 (28.6) 0 (0.0) 0 (0.0) 0 (0.0) 7 (50.0) 14 (100.0)
A & A 27 (15.0) 31 (17.2) | 19 (10.6) 5 (2.8) 0 (0.0) 98 (54.4) | 180 (100.0)

- 42 -




A 5 A WSO A9 Hok weHA (A EH) it B
1) disH@e] A Hob Bl dig B gt

LEIAe] e ANl BAhE e TEHEHE e 0 5
A Ao 47 5, 4, 3, 2, 1ML Bold T SYSE Foto] FULS 4E
3 % 1004 wHow Siste (R 30)T 2L Ang

ol = 607 ez 1A O™ ARl A
Aoz Vpepgt,

(E 30) wSTA 9] Atz Ql Hrto] digt ZAME F¢
T+ 2 N S 4=(1004)
2 A] st 77 57.2
LA A ER) thsha(44) 144 61.9
sk 98 66.9
29A st 65 60.0
L9 FAL & w (4) 144 66.9
st 97 70.5
294 ojst 67 57.6
AR gk a3t st (44) 145 60.1
sk 96 69.8
*SES = (T 945 x ZF SR 4o A / AA SEAS

*Total Score = ((

N % uAL - 3oy
Sit Score at each cless(5 for class 1 and 1 for class 5)
Ni: Number of respondents at each class

Ts: Top Score
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CE 31y 249A dighe] A9 2o nsagol g 7K, 49, £59)
T 2 e &5 | &% HE g | W us | FE A L
A e 1 (0.8) 6 (4.7) 30 (23.6) 9 (1.1 2 (1.6) 79 (62.2) | 127 (100.0)
EE 0 (0.0) 1 (1.9 10 (18.9) 5 9.4 0 0.0) 37 (69.8) 53 (100.0)
20tH 0 (0.0) 2 (3.5 8 (14.0) 5 (8.8 0 0.0) 42 (73.7) 57 (100.0)
o] |30tH 0 (0.0) 0 (0.0) 8 (13.6) 4 (6.8) IENCR)) 46 (78.0) 59 (100.0)
40ty 1 (2.0) 5 (10.0) 21 (42.0) 3 (6.0) 0 (0.0) 20 (40.0) 50 (100.0)
3|50t 0 (0.0) 0 (0.0) 2 (15.4) 2 (15.4) 1 (1.7 8 (61.5) 13 (100.0)
60th 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0)
LA oY 0 (0.0) 1 (4.0) 3 (12.0) 3 (12.0) 1 (4.0) 17 (68.0) 25 (100.0)
AFA7 0 (0.0) 0 (0.0) 0 (0.0) 1 (20.0) 0 (0.0) 4 (80.0) 5 (100.0)
4718 1 (1.3) 4 (5.4) |19.3 (26.1) 4 (5.4) 0 (0.00 |45.8 (61.8) | 74.2 (100.0)
4 | EAEEA3I® 0 (0.0) 1 (11.5 | 2.3 (26.9) 0 (0.0) 0 0.0) 5.3 (61.5 | 8.7 (100.0)
e (ed) 0 (0.0) 1 (6.5 4 (25.8) 0 (0.0) 1 (6.5) 9.5 (61.3) | 15.5 (100.0)
& |ar/a 0 (0.0) 0 (0.0) 1 (5.9 1 (5.9 0 (0.0) 15 (88.2) 17 (100.0)
g 0 (0.0) 0 (0.0) 1.3 (11.4) 1 (8.6) 0 (0.0) 9.3 (80.0) | 11.7 (100.0)
571/ R 0 (0.0) 0 (0.0) 8 (40.0) 4 (20.0) 0 (0.0) 8 (40.0) 20 (100.0)
71 0 (0.0) 0 (0.0) 1 (33.3) 0 (0.0) 0 0.0) 2 (66.7) 3 (100.0)
A & A 1 (0.6) 7 (3.9 40 (22.2) 14 (7.8) 2 (1.D 116 (64.4) | 180 (100.0)
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CE 32) 29A diste] 4G ZoF 2&3ol Hid B7HEE, FAFD)

T 2 e &% &% HE ug | e uE | 7 Gk

1d gk 0 (0.0) 1 (10.0) 1 (10.0) 0 (0.0) 0 (0.0) 8 (80.0) 10 (100.0)

A |ldeld 3dver 0 (0.0) 0 (0.0) 1 (4.0) 2 (8.0) 1 (4.0) 21 (84.0) 25 (100.0)
3dol g 10dm|gt 0 (0.0) 0 (0.0) 7 (16.7) 3(7.D 0 (0.0) 32 (76.2) 42 (100.0)

2 |10do)4F 20wk 1 Q2.4 3(1.D) 12 (28.6) 3.1 0 (0.0) 23 (54.8) 42 (100.0)
204 ol 0 (0.0) 2(7.4 12 (44.4) 4 (14.8) 1 3.7 8 (29.6) 27 (100.0)
T 0 (0.0) 1 2.9 7 (20.6) 2(5.9) 0 (0.0) 24 (70.6) 34 (100.0)

=3 1(1.2) 4 (4.7 20.3 (23.7) 7(8.2) 00.00 | 53.5(62.3) | 85.8(100.0)

i 0 (0.0) 1 (15.4) 1.5 (23.1) 0 (0.0) 0 (0.0) 4 (61.5) 6.5 (100.0)

T A 0 (0.0) 0 (0.0) 0.5 (20.0) 0 (0.0) 0 (0.0) 2 (80.0) 2.5 (100.0)
o AT 0 (0.0) 0 (0.0) 10.8 (23.4) 250.4) 1(2.2) | 32.0(69.1) | 46.3 (100.0)
I B Y 0 (0.0) 0 (0.0) 1.5(27.3) 0.5 .1 0 (0.0) 3.5 (63.6) 5.5 (100.0)
o A7 0 (0.0) 0 (0.0) 0 (0.0) 1 (20.0) 0 (0.0) 4 (80.0) 5 (100.0)
s 0 (0.0) 1 (15.8) 2.3 (36.8) 0 (0.0) 1(158) | 2.0@31.6) 6.3 (100.0)

718 0 (0.0) 0 (0.0) 2 (25.0) 1(12.5) 0 (0.0) 5 (62.5) 8 (100.0)
o 0 (0.0) 1 (7.1 1 (7.1 2(14.3) 0 (0.0) 10 (71.4) 14 (100.0)

A & A 1 (0.6) 7(.9) 40 (22.2) 14 (7.8) 2 (1D 116 (64.4) | 180 (100.0)
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(® 33y 49A THEte] AU Hok weIAo| et WA, A, 243)
T B e &% | £% nE SR E R AA | aaas

A o 2 (1.6) 24 (18.9) 57 (44.9) 16 (12.6) 2 (1.6) 26 (20.5) 127 (100.0) 61.6
E o 0 (0.0) 14 (26.4) 23 (43.4) 4 (7.5) 2 (3.8 10 (18.9) 53 (100.0) 62.8
204 2 (3.5) 17 (29.8) 20 (35.1) 7 (12.3) 3(5.3) 8 (14.0) 57 (100.0) 63.3

o 30tH 0 (0.0) 8 (13.6) 32 (54.2) 7(11.9) 1.7 11 (18.6) 59 (100.0) 59.6
40tH 0 (0.0) 11 (22.0) 22 (44.0) 5 (10.0) 0 (0.0) 12 (24.0) 50 (100.0) 63.2

K 50T 0 (0.0) 2 (15.4) 5(38.5) 1(7.7 0 (0.0) 5(38.5) 13 (100.0) 62.5
60ty 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0 0(0.0) 0 (0.0) 1 (100.0) 60.0

AdA ey 1 (4.0) 9 (36.0) 7 (28.0) 2 (8.0) 4 (16.0) 2 (8.0) 25 (100.0) 60.9
A7 0 (0.0) 0 (0.0) 4 (80.0) 1(20.0) 0(0.0) 0 (0.0) 5 (100.0) 56.0
=378 1(1.3) 14 (18.9) | 35.5(47.9) 8 (10.8) 0 (0.0) 15.7 21.1) | 74.2 (100.0) 62.7

EN R s e D P 0 (0.0) 2 (23.1) 4 (46.2) 0 (0.0) 0(0.0) | 2.67 (30.8) 8.7 (100.0) 66.7
s ) 0 (0.0) 3(19.4) 5.5 (35.5) 2 (12.9) 0 (0.0) 5(32.3) | 15.5(100.0) 61.9

= AT/ A 0 (0.0) 3(17.6) 10 (58.8) 2(11.8) 0 (0.0) 2(11.8) 17 (100.0) 61.3
B 0 (0.0) 4 (34.3) 1(8.6) 3(25.7) 0(0.0) 3.7 (314 | 11.7 (100.0) 62.5
5718/ HE7 0 (0.0) 3 (15.0) 10 (50.0) 2 (10.0) 0(0.0) 5(25.0) 20 (100.0) 61.3

715 0 (0.0) 0 (0.0) 3 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 3 (100.0) 60.0

A E | 2 (1.1 38 (21.1) 80 (44.4) 20 (11.1) 4(2.2) 36 (20.0) 180 (100.0) 61.9
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CE 34y 4974 Tste] AU Hok mEIP] dE WA, FITY)

T 2 e &% &% HE o S B A

1d mwt 0 (0.0) 2 (20.0) 4 (40.0) 1 (10.0) 0 (0.0) 3(30.0) 10 (100.0)

A |ldeld 3due 1 (4.0) 5 (20.0) 11 (44.0) 3 (12.0) 1 (4.0) 4 (16.0) 25 (100.0)
3dold 10dw| gt 0 (0.0) 8 (19.0) 24 (57.1) 4.5 0 (0.0) 6 (14.3) 42 (100.0)

g [10dol4 20 mgh 0 (0.0) 8 (19.0) 16 (38.1) 6 (14.3) 0 (0.0) 12 (28.6) 42 (100.0)
20 o) 0 (0.0) 7 (25.9) 13 (48.1) 3111 0 (0.0) 4 (14.8) 27 (100.0)

R RCRE] 129 8 (23.5) 12 (35.3) 3(8.8) 388 7 (20.6) 34 (100.0)

=7 1(1.2) 16 (18.6) | 37.8 (44.1) | 11.5 (13.4) 0(0.0) |19.5(22.7) | 85.8(100.0)

i 0(0.0) | 2.5(38.5) 2 (30.8) 0 (0.0) 0 (0.0) 2(30.8) 6.5 (100.0)

= A3 0(0.0) | 0.5(20.0) 0 (0.0) 0.5 (20.0) 0 (0.0) 1.5 (60.0) 2.5 (100.0)
Sy 0 (0.0) 8(17.3) | 23.3(50.4) 3.5(7.6) 2(4.3) | 9.5(20.5 | 46.3(100.0)

d [BAEA 0(0.0) | 1.5(27.3) 3 (54.5) 0 (0.0) 0 (0.0) 1(18.2) 5.5 (100.0)
A7t 0(0.0) | 0.5(10.0) 3 (60.0) 1.5 (30.0) 0 (0.0) 0 (0.0) 5 (100.0)
Tz 0 (0.0) 1(15.8) 3.3 (52.6) 1(15.8) 0 (0.0) 1(15.8) 6.3 (100.0)
718 0 (0.0) 3(37.5) 4.5 (56.3) 0 (0.0) 00.0) | 05(6.3) 8 (100.0)
o 1 (7.1 5(35.7) 3(21.4) 2 (14.3) 2 (14.3) 1(7.1) 14 (100.0)

A & A 2(.1) | 38Q2LD 80 (44.4) 20 (11.D) 42.2) 36 (20.0) | 180 (100.0)
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CE 35) dighdo] 4G9 =oF sy digh H7HAE, 99, &59)

T 7 e &5 | EF HE ey ¢ ug | RSH AA LR sRe
A 3.24) | 25 (19.7) | 31 (24.49) 7 (5.5) 2 (1.6) | 59 (46.5) | 127 (100.0) 65.9
R 1 (1.9 | 13 (245 | 15 (28.3) 1 (1.9 0 (0.0) | 23 (43.4) | 53 (100.0) 69.3

200 1 (1.8) | 13 (22.8) | 16 (28.1) 1 (1.8) 0 (0.0) | 26 (45.6) | 57 (100.0) 69.0
o |30t 1 (17D | 10 16.9) | 11 (18.6) 2 (3.4) 1 (1) | 34 (57.6) | 59 (100.0) 66.4
40ty 1 2.0 | 11 2200 | 17 (34.0) 4 (8.0) 1 20 | 16 3200 | 50 (100.0) 64.1
g |50t 1 (1.7 4 (30.8) 1 (1.7 1 (1.7 0 (0.0) 6 (46.2) | 13 (100.0) 74.3
60t 0 (0.0) 0 (0.0 1 (100.00 | 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 60.0
LA HY 1 (4.0) 9 (36.0) 5 (20.0) 0 (0.0) 1 (4.0) 9 (36.0) | 25 (100.0) 71.3
A 1 (20.0) | 2 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 86.7
=237\ 0 (0.0) | 11 (14.8) | 16.8 (22.7) 2 7 0 (0.0) |44.3 (59.8) | 74.2 (100.0) 66.0
& |EAgE g8 0 (0.0) 2 (23D | 03 (3.9 1 (11.5) 0 (0.0) | 5.3 (61.5) | 8.7 (100.0) 66.0
tsH ) 0 (0.0) 2 (12.9) | 8.5 (54.8) 2 (12.9) 0 (0.0) 3 (19.4) | 15.5 (100.0) 60.0
5 |da7g/a 0 (0.0) 1 (5.9 9 (52.9) 0 (0.0) 1 (5.9 6 (35.3) | 17 (100.0) 58.2
B 0 (0.0) 1 86 | 13 (11.4) 2 (17.1) 0 (0.0) | 7.3 (62.9) | 11.7 (100.0) 55.4
TENW/ARA® | 2 10.0) | 9 (45.0) 4 (20.0) 1 (5.0) 0 (0.0) 4 (20.0) | 20 (100.0) 75.0
7)€t 0 (0.0) 1 (33.3) 1 (33.3) 0 (0.0) 0 (0.0) 1 (33.3) 3 (100.0) 70.0
A e 4 (22 | 38 QL1 | 46 (25.6) 8 (4.4) 2 (1.1) | 82 (45.6) | 180 (100.0) 66.9
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CE 36y dishele] AN =oF 5ol diet ¥7HREH, FAFE)

T = e &5 2% HE uE | W uE | FE A
1d gk 0 (0.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 (0.0) 9 (90.0) 10 (100.0)
1ol 3 dm]gt 1 (4.0) 5 (20.0) 4 (16.0) 0 (0.0) 1 (4.0) 14 (56.0) 25 (100.0)
% 3dol Y 10 mgt 0 (0.0) 7 (16.7) 11 (26.2) 2 (4.8 0 (0.0) 22 (52.4) 42 (100.0)
o | 10014 20wt 0 (0.0) 9 (21.4) 10 (23.8) 3 (1. 1 24 19 (45.2) 42 (100.0)
) 20 ol4f 2 (1.4) 9 (33.3) 8 (29.6) 3 (11D 0 (0.0) 5 (18.5) 27 (100.0)
5 1 29 7 (20.6) 13 (38.2) 0 (0.0) 0 (0.0) 13 (38.2) 34 (100.0)
=4 0 (0.0 13 (15.1) | 20.3 (23.7) 4 (4.7) 0 (0.0 48.5 (56.5) | 85.8 (100.0)
i 0 (0.0) 1.5 (23.1) 0 (0.0) 1 (15.4) 0 (0.0) 4 (61.5) 6.5 (100.0)
ES Az 0 (0.0) 1 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 1.5 (60.0) 2.5 (100.0)
AT 1 2.2 11 (23.7) | 20.3 (43.9) 1 Q22 2 (4.3) 11 (23.7) | 46.3 (100.0)
A | BE/AT 0 (0.0) 2 (36.4) | 0.5 O.D 0 (0.0) 0 0.0) 3 (54.5) 5.5 (100.0)
A7 1 (20.0) 1 (20.0) 0 (0.0) 1 (20.0) 0 0.0) 2 (40.0) 5 (100.0)
Tolae 1 (15.8) 3 474 | 1.3 QLD 1 (15.8) 0 (0.0) 0 (0.0) 6.3 (100.0)
718 0 (0.0) 1.5 (18.8) | 2.5 (3L.3) 0 (0.0) 0 0.0) 4 (50.0) 8 (100.0)
e 1 (7.1 4 (28.6) 1 (7.1 0 (0.0) 0 (0.0) 8 (57.1) 14 (100.0)
A e 4 2.2 38 (21.1) 46 (25.6) 8 (4.4) 2 (1.D 82 (45.6) | 180 (100.0)
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CE 37 2974 ke BYANY Rof BRY FA=O] e WA, 4F, 249)
T = - 4 4 HE 4 | He 74 F3H A A
A o 0 (0.0) 10 (7.9) 31 (24.4) 7 (5.5 0 (0.0) 79 (62.2) 127 (100.0) 61.3
E o 0 (0.0) 2 (3.8) 10 (18.9) 5 0.4 0 (0.0) 36 (67.9) 53 (100.0) 56.5
20tH 0 (0.0) 3 (5.3 9 (15.8) 4 (7.0) 0 (0.0) 41 (71.9) 57 (100.0) 58.8
o |30t 0 (0.0 1 1.7 8 (13.6) 4 (6.8) 0 (0.0 46 (78.0) 59 (100.0) 55.4
40t 0 (0.0 7 (14.0) 19 (38.0) 3 (6.0) 0 (0.0 21 (42.0) 50 (100.0) 62.8
g 500 0 (0.0) 1 (1.7 4 (30.8) 1 (7.7 0 (0.0) 7 (53.8) 13 (100.0) 60.0
60tH 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0 1 (100.0) 60.0
AdA s+ 0 (0.0) 1 (4.0) 5 (20.0) 3 (12.0) 0 (0.0) 16 (64.0) 25 (100.0) 55.6
A 0 (0.0) 0 (0.0) 1 (20.0) 0 (0.0) 0 (0.0) 4 (80.0) 5 (100.0) 60.0
=718 0 (0.0) 7 9.4 18.3 (24.7) 4 (5.4) 0 (0.0) |44.8 (60.4) | 74.2 (100.0) 62.0
4 | BT 0 (0.0) 1 (115 | 2.3 (26.9) 0 (0.0) 0 (0.0) 5.3 (61.5) 8.7 (100.0) 66.0
i sh(a ) 0 (0.0) 1 (6.5 6 (38.7) 0 (0.0) 0 (0.0) 8.5 (54.8) | 15.5 (100.0) 62.9
5 |are/a 0 (0.0 0 0.0 1 (5.9 1 (5.9 0 (0.0 15 (88.2) 17 (100.0) 50.0
B 0 (0.0) 0 (0.0) 1.3 (11.4) 1 (8.6) 0 (0.0) 9.3 (80.0) | 11.7 (100.0) 51.4
T/ R H 0 (0.0) 2 (10.0) 5 (25.0) 3 (15.0) 0 (0.0) 10 (50.0) 20 (100.0) 58.0
7] e} 0 (0.0) 0 (0.0) 1 (33.3) 0 (0.0) 0 (0.0) 2 (66.7) 3 (100.0) 60.0
A A A 0 0.0 12 (6.7 41 (22.8) 12 (6.7) 0 (0.0) | 115 (63.9) 180 (100.0) 60.0
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CE 38) 294 diste] AN 2oF 259 FHL ditt ¥7HEE, FAFH)

T 2 e 4| F4 HE 4 | We 7E | F8¥ A
1d mgt 0 (0.0) 1 (10.00 1 (10.0) 0 (0.0) 0 (0.0) 8 (80.0) 10 (100.0)
1dol4y 3dm|gt 0 (0.0) 0 (0.0) 2 (8.0 4 (16.0) 0 (0.0) 19 (76.0) 25 (100.0)
% 3dold 10w gt 0 (0.0) 2 (4.8 6 (14.3) 1 (2.4) 0 (0.0) 33 (78.6) 42 (100.0)
o | 10dol 20 m]Rt 0 (0.0) 4 9.5 10 (23.8) 5 (11.9) 0 (0.0) 23 (54.8) 42 (100.0)
) 20 o] 0 (0.0) 4 (14.8) 13 (48.1) 1 3.7 0 0.0 9 (33.3) 27 (100.0)
ERCRE] 0 (0.0) 1 29 9 (26.5) 1 2.9 0 (0.0) 23 (67.6) 34 (100.0)
=3 0 (0.0) | 6.5 (7.6) 20.8 (24.3) 6 (7.0) 0 (0.00 | 525 (61.2) | 85.8 (100.0)
o8 0 (0.0) 1 (15.4) 1.5 (23.1) 0 (0.0) 0 (0.0) 4 (61.5) 6.5 (100.0)
ES Az 0 (0.0) 0 (0.0) 0.5 (20.0) 0 (0.0) 0 (0.0) 2 (80.0) 2.5 (100.0)
N 0 (0.0) 0 (0.0) 10.8 (23.4) 4 (8.6) 0 (0.00 |31.5 (68.0) | 46.3 (100.0)
A [ BE/AT 0 (0.0) 1 (18.2) 0.5 0.1 0 (0.0) 0 0.0) 4 (72.7) 5.5 (100.0)
A7 0 (0.0) 1 (20.0) 0 (0.0) 0 (0.0) 0 (0.0) 4 (80.0) 5 (100.0)
T |z 0 (0.0) 1 (15.8) 3.3 (52.6) 0 (0.0) 0 (0.0) 2 (316 6.3 (100.0)
71Et 0 (0.0) | 0.5 (6.3) 1.5 (18.8) 1 (12.5) 0 0.0) 5 (62.5) 8 (100.0)
o 0 (0.0) 1 (7.1 2 (14.3) 1 (7.1 0 (0.0 10 (71.4) 14 (100.0)
a4 2 A 0 (0.0) 12 (6.7) 41 (22.8) | 12 (6.7 0 (0.00 | 115 (63.9) | 180 (100.0)
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(E 39) 497 tiste] AU Bop wge] FAE hE WA, A, 249)
T B e 24| 34 uE Rg e B8] R A4 | @aEs
A o 5 (3.9 34 (26.8) | 50 (39.4) 11 8.7 1 (0.8) 26 (20.5) | 127 (100.0) 66.1
E o 3.7 16 (30.2) | 21 (39.6) 3 6.7 0 (0.0) 10 (18.9) 53 (100.0) 68.8
20t 5 (8.8) 21 (36.8) | 17 (29.8) 4 (7.0) 1 (1.8) 9 (15.8) 57 (100.0) 70.4
o] |30tH 1 (1.7 11 (18.6) | 30 (50.8) 8 (13.6) 0 (0.0) 9 (15.3) 59 (100.0) 62.0
40ty 1 .0 15 (30.0) | 19 (38.0) 2 (4.0 0 (0.0) 13 (26.0) 50 (100.0) 68.1
g |50t 1 (.7 3 (23.1) 4 (30.8) 0 (0.0) 0 (0.0) 5 (38.5) 13 (100.0) 72.5
60ty 0 (0.0) 0 (0.0) 1 (100.0) 0 0.0) 0 (0.0) 0 (0.0) 1 (100.0) 60.0
AdA s+ 2 (8.0) 12 (48.0) 6 (24.0) 2 (8.0) 1 (4.0) 2 (8.0) 25 (100.0) 70.4
At 0 (0.0) 1 (20.0) 3 (60.0) 1 (20.0) 0 (0.0) 0 (0.0) 5 (100.0) 60.0
5471 3 (4.0) 17.5 (23.6) | 32 (43.1) 6 (8.1 0 (0.0) | 15.7 (21.1) | 74.2 (100.0) 66.0
4 | BAT T 0 (0.0) 3 (34.6) 2 (23.D) 1 (119 0 (0.0) 2.7 (30.8) | 8.7 (100.0) 66.7
o sh(ar¢) 0 (0.0) 4.5 (29.0) 7 (45.2) 0 (0.0) 0 (0.0) 4 (25.8) | 15.5 (100.0) 67.8
5 |dAr/a 0 (0.0) 6 (35.3) 6 (35.3) 3 (17.6) 0 (0.0) 2 (11.8) 17 (100.0) 64.0
g 1 (8.6) 2 (17.1) 4 (34.3) 1 (8.6) 0 (0.0) 3.7 (31.4) | 11.7 (100.0) 67.5
T B/ R 2 (10.0) 3 (15.0) 9 (45.0) 0 (0.0) 0 (0.0) 6 (30.0) 20 (100.0) 70.0
7]t 0 (0.0) 1 (33.3) 2 (66.7) 0 (0.0) 0 (0.0) 0 (0.0) 3 (100.0) 66.7
A 2 A 8 (4.4) 50 (27.8) | 71 (39.4) | 14 (7.8) 1 (0.6) | 36 (20.0) | 180 (100.0) | 66.9
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CGE 40> 44A] Thste] AN RoF W&o FUme] o3t WA, FATE)
T = ¢ 4 A HE 54 e £4 | 53 A

1d =gk 0 (0.0) 3 (30.0) 4 (40.0) 0 (0.0) 0 (0.0) 3 (30.0) 10 (100.0)
1'dol/ 3dm|qt 2 (8.0) 6 (24.0) 8 (32.0) 5 (20.0) 0 (0.0) 4 (16.0) 25 (100.0)

% 3doli 10dwRt 2 (4.8) 10 (23.8) 21 (50.0) 4 (9.5) 0 (0.0) 5 (11.9) 42 (100.0)
o | 10dol 20 m]Rt 1 (2.4 6 (14.3) 20 (47.6) 3 (7.D 0 (0.0) 12 (28.6) 42 (100.0)
E 204 ol 1 3.7 10 (37.0) 11 (40.7) 0 (0.0) 0 (0.0) 5 (18.5) 27 (100.0)
o 2 (5.9 15 (44.1) 7 (20.6) 2 (5.9 1 29 7 (20.6) 34 (100.0)

=74 2.5 (2.9 21 (24.5) | 383 (44.7) | 5.5 (6.4 0 (0.0) |18.5 (21.6) | 85.8 (100.0)

o3y 1 (15.49) 2 (30.8) 0.5 (1.7) 1 (15.4) 0 (0.0) 2 (30.8) 6.5 (100.0)

= A% 0 (0.0) 0.5 (20.0) 0.5 (20.0) 0 (0.0) 0 (0.0) 1.5 (60.0) 2.5 (100.0)
A 1.5 (3.2 9.5 (20.5) | 19.3 (41.7) | 5.5 (11.9) 0 (0.0) |10.5 (22.7) | 46.3 (100.0)

o | WA/AT 1.5 (27.3) 1 (18.2) 2 (36.4) 0 (0.0) 0 (0.0) 1 (18.2) 5.5 (100.0)
At 0 (0.0) 1.5 (30.0) 2.5 (50.0) 1 (20.0) 0 (0.0) 0 (0.0) 5 (100.0)

™ A 0 (0.0) 1 (15.8) 4.3 (68.4) 0 (0.0) 0 (0.0) 1 (15.8) 6.3 (100.0)
7] e 0.5 (6.3) 3.5 (43.8) 3.5 (43.8) 0 (0.0) 0 (0.0) 0.5 (6.3) 8 (100.0)
T3 1 (7.1 10 (71.4) 0 (0.0) 1 (7.1) 1 (7.1 1 (7.1 14 (100.0)

A A A 8 (4.4) 50 (27.8) 71 (39.4) | 14 (7.8 1 (0.6) 36 (20.0) 180 (100.0)
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CGE 41y iSO AASI HoF Ko FAZo| tiE BAHPE, AW, £59)
T ® - 4 4 HE A e 74 7Y A A
A Lt 6 4.7 27 (21.3) 28 (22.0) 6 4.7 0 0.0 60 (47.2) | 127 (100.0) 69.9
E o] 1 (1.9 17 (32.1) 11 (20.8) 1 (1.9 0 (0.0) 23 (43.4) 53 (100.0) 72.0
204 2 (3.5 15 (26.3) 11 (19.3) 3 (5.3 0 (0.0 26 (45.6) 57 (100.0) 70.
o |30 2 (3.4 12 (20.3) 9 (15.3) 2 3.4 0 (0.0) 34 (57.6) 59 (100.0) 71.2
40t 1 .0 14 (28.0) 17 (34.0) 1 .0 0 (0.0) 17 (34.0) 50 (100.0) 69.1
g |50 2 (15.4) 3 (23.D 1 (7.7 1 (7.7 0 (0.0) 6 (46.2) 13 (100.0) 77.1
60t 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 60.0
AL Ay 1 4.0 10 (40.0) 3 (12.0) 2 (8.0) 0 (0.0 9 (36.0) 25 (100.0) 72.5
A4 1 (20.0) 2 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 86.7
3718 2 Q2.7 10.5 (14.2) | 16.3 (22.0) 1 (1.3 0 (0.0) |44.3 (59.8) | 74.2 (100.0) 69.1
4 | BT g 0 (0.0) 2 (23.1) 1.3 (15.4) 0 (0.0) 0 (0.0) 5.3 (61.5) | 8.7 (100.0) 72.0
e () 0 (0.0) 4.5 (29.0) 6 (38.7) 2 (12.9) 0 (0.0) 3 (19.4) | 15.5 (100.0) 64.0
& |arg/a 0 (0.0) 4 (23.5) 6 (35.3) 1 (5.9 0 (0.0) 6 (35.3) 17 (100.0) 65.5
B 0 (0.0) 1 (8.6) 2.3 (20.0) 1 (8.6) 0 (0.0) 7.3 (62.9) | 11.7 (100.0) 60.0
TR/ E B 3 (15.0) 9 (45.0) 3 (15.0) 0 (0.0) 0 (0.0) 5 (25.0) 20 (100.0) 80.0
7] e 0 (0.0) 1 (33.3) 1 (33.3) 0 0.0) 0 (0.0) 1 (33.3) 3 (100.0) 70.0
AA A A 7 (3.9 44 (24.4) 39 217 7 (3.9 0 (0.0) 83 (46.1) | 180 (100.0) 70.5
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CGE 42 Hhetelo] A9 BoF weol FAme] Uet WA, FUR)

7 8 e 4| FA HE 24 | de 54| 28 A
19wt 0 (0.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 0.0 9 (90.0) | 10 (100.0)
1do]4 3dmlgt 1 (4.0) 5 (20.0) 4 (160) | 1 (40 0 (0.0) | 14 (56.0) | 25 (100.0)

B 3goy todmer | 2 49) 9 (21.4) 9 (21.4) | 0 (0.0) 0 (0.0) | 22 (52.4) | 42 (100.0)
L [10¥ol 20mE |1 (2.4) 9 214 | 11 262 | 2 4.8 0 (0.0) | 19 452 | 42 (100.0)
7209 o 2 (7.4) 11 (40.7) 7059 | 137 0 (0.0 6 (22.2) | 27 (100.0)
negt 1 (2.9 9 (26.5) 8 (235 | 3 (88 0 (0.0) | 13 (382 | 34 (100.0)
=7 1.5 (1.7) 15 (17.5) | 18.8 (21.9) | 2 (2.3) 0 (0.0) |[48.5 (56.5) |85.8 (100.0)
o 0 (0.0) | 15 3.1 1 (154) | 0 (0.0) 0 (0.0 4 (61.5) | 6.5 (100.0)
= |dd 0 (0.0) 1 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) | 1.5 (60.0) | 2.5 (100.0)
A 1 2.2 | 145 (31.3) | 158 34.2) | 3 (6.5 0 (0.0) | 12 (25.9) |46.3 (100.0)
qd | B/ 2 36.4) | 0.5 9.1 0 (0.0) 0 (0.0) 0 (0.0 3 (54.5) | 5.5 (100.0)
A 1 (20.0) 2 (40.0) 0 (0.0) 0 (0.0) 0 0.0 2 (40.0) | 5 (100.0)
Tz 1 (15.8) 3474 | 13 QLD | 13158 | 0 0.0 0 (0.0) | 6.3 (100.0)
7]} 0.5 (6.3) | 1.5 (18.8) 2 (2500 | 0 (0.0 0 (0.0 4 (50.0) | 8 (100.0)
neg 0 (0.0) 5 (35.7) 0 (0.0) 1 (7.1) 0 0.0 8 (57.1) | 14 (100.0)
A ES 7 (3.9) 44 244) | 39 QLD | 7 39 0 (0.0) | 83 6.1) | 180 (100.0)
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CGE 43y 297 hoke] A9 L&) Ao e wiHA

WA, A, 249

T 2 e 2 | 2 HE A AA | gaEs
A o 1 (0.8) 10 (7.9 28 (22.0) 8 (6.3) 2 (1.6) 78 (61.4) 127 (100.0) 60.0
E o 0 (0.0) 1 (1.9 10 (18.9) 5 (9.4) 2 (3.8 35 (66.0) 53 (100.0) 51.1
20tH 0 (0.0) 3 (5.3 8 (14.0) 5 (8.8) 1 (1.8) 40 (70.2) 57 (100.0) 55.3
@ 30 0 0.0) 2 34 7 (11.9) 3 (5.1 2 (3.4 45 (76.3) 59 (100.0) 52.9
o 40t 1 (2.0) 5 (10.0) 18 (36.0) 4 (8.0) 1 (2.0 21 (42.0) 50 (100.0) 60.7
50t 0 (0.0) 1 (.7 4 (30.8) 1 (7.7 0 (0.0) 7 (53.8) 13 (100.0) 60.0
60tH 0 0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 60.0
AdA s+ 0 (0.0) 1 (4.0) 4 (16.0) 3 (12.0) 1 (4.0) 16 (64.0) 25 (100.0) 51.1
A 0 (0.0) 0 (0.0) 1 (20.0) 0 (0.0) 0 (0.0) 4 (80.0) 5 (100.0) 60.0
=718 1 (1.3) 5 (6.7) 17.3 (23.4) 5 (6.7) 2 2.7 43.8 (59.1) | 74.2 (100.0) 58.7
4 | BT 0 (0.0) 2 (23.1) 1.3 (15.4) 0 (0.0) 0 (0.0) 5.3 (61.5) 8.7 (100.0) 72.0
i sh(a ) 0 0.0) 1 (6.5 4 (25.8) 2 (12,9 0 (0.0) 8.5 (54.8) | 15.5 (100.0) 57.1
5 |are/a 0 0.0) 0 (0.0) 1 (5.9 1 (5.9 0 0.0) 15 (88.2) 17 (100.0) 50.0
B 0 (0.0) 1 (8.6) 0.3 2.9 1 (8.6) 0 (0.0) 9.3 (80.0) | 11.7 (100.0) 60.0
571/ E7H® 0 0.0) 1 (5.0 8 (40.0) 1 (5.0 1 (5.0 9 (45.0) 20 (100.0) 56.4
7] e} 0 (0.0) 0 (0.0) 1 (33.3) 0 (0.0) 0 (0.0) 2 (66.7) 3 (100.0) 60.0
A A A 1 (0.6) 11 (6.1) 38 (21.1) 13 (7.2) 4 (2.2) 113 (62.8) 180 (100.0) 57.6

- 59 -



GE 44y 297 Tiste] AU Lgo] AR e wHAY WAATCEY, FATH)

+ 2 Mo g | & nE g | e ge | Bed A7

14a w9t 0 (0.0) 1 (10.0) 1 (10.0) 0 (0.0) 0 (0.0) 8 (80.0) 10 (100.0)
1dold 3duqt 0 (0.0) 1 (4.0) 1 (4.0 4 (16.0) 1 (4.0 18 (72.0) 25 (100.0)

G 3dolA 10dm|gt 0 (0.0) 1 @24 6 (14.3) 2 (4.8 1 2.4 32 (76.2) 42 (100.0)
= 10 o] 20 m] gk 1 (2.4 2 4.8 11 (26.2) 3 (7. 2 (4.8) 23 (54.8) 42 (100.0)
E 204 o] 0 (0.0) 3 (11.1) 13 (48.1) 2 (1.4 0 (0.0) 9 (33.3) 27 (100.0)
T3 0 (0.0) 3 (8.8 6 (17.6) 2 (5.9 0 (0.0) 23 (67.6) 34 (100.0)

=74 1 (1.2 45 (5.2) 19.8 (23.1) 6 (7.0) 2 (23) | 525 (61.2) | 85.8 (100.0)

o 2y 0 (0.0) 2 (30.8) 0.5 (7.7 0 (0.0) 0 (0.0) 4 (61.5) | 6.5 (100.0)

= Ax 0 (0.0) 0.5 (20.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (80.0) | 2.5 (100.0)
A 0 (0.0) 2 (4.3) 6.3 (13.7) 6 (12.9) 2 (4.3) 30 (64.7) | 46.3 (100.0)

d | BH/AE 0 (0.0) 1 (18.2) 1 (18.2) 0 (0.0) 0 (0.0) 3.5 (63.6) | 5.5 (100.0)
At 0 (0.0) 0 (0.0) 1 (20.0) 0 (0.0) 0 (0.0) 4 (80.0) 5 (100.0)

™ s 0 (0.0) 1 (15.8) 3.3 (52.6) 0 (0.0) 0 (0.0) 2 (3l.6) | 6.3 (100.0)
7]t 0 (0.0) 0 (0.0) 2 (25.0) 1 (12.9 0 (0.0) 5 (62.5) 8 (100.0)
T3 0 (0.0) 0 (0.0) 4 (28.6) 0 (0.0) 0 (0.0) 10 (719 14 (100.0)

AA 2 A 1 (0.6) 11 (6.1 38 (21.1) | 13 (7.2) 4 (2.2) 113 (62.8) | 180 (100.0)
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CGE 455 49A) thete] A9 Leo R e avhy BAAATHE, A%, A5

T 2 e & = HE S | W ¥ | FE A i
A k= 5 (3.9 24 (18.9) 49 (38.6) 17 (13.4) 5 (3.9 27 (21.3) | 127 (100.0) 61.4
£ o 0 (0.0) 6 (11.3) 27 (50.9) 12 (22.6) 0 0.0) 8 (15.1) 53 (100.0) 57.3
20 3(53) 10 (17.5) 23 (40.4) 12 (21.1) 1 (1.8) 8 (14.0) 57 (100.0) 60.8
o] |30t 1 (1.7 6 (10.2) 29 (49.2) 11 (18.6) 3 .(5.D 9 (15.3) 59 (100.0) 56.4
40ty 1 (2.0) 11 (22.0) 19 (38.0) 5 (10.0) 1 (2.0) 13 (26.0) 50 (100.0) 63.2
F 500 0 (0.0) 3 (23.D 4 (30.8) 1 (7.7 0 (0.0) 5 (38.5) 13 (100.0) 65.0
60th 0 (0.0) 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 60.0
LA oAy 3 (12.0) 6 (24.0) 8 (32.0) 5 (20.0) 0 (0.0) 3 (12.0) 25 (100.0) 66.4
AP 0 (0.0) 0 (0.0) 2 (40.0) 2 (40.0) 1 (20.0) 0 (0.0) 5 (100.0) 44.0
4718 1 (1.3) 12 (16.2) | 31.5 (42.5) 12 (16.2) 3 (400 |14.7 (19.8) | 74.2 (100.0) 58.7
4 | EATAy7E 0 (0.0) 3 (34.6) 2 (23.1) 2 (23.1) 0 0.0) 1.7 (19.2) | 8.7 (100.0) 62.9
ek ¢) 1 (6.5) 2 (12.9) 6.5 (41.9) 2 (12.9) 0 (0.0) 4 (25.8) | 15.5 (100.0) 63.5
& a7z 0 (0.0) 3 (17.6) 9 (52.9) 2 (11.8) 1 (5.9 2 (11.8) 17 (100.0) 58.7
B 0 (0.0) 1 (8.6) 4 (34.3) 3 (25.7) 0 (0.0) 3.7 (31.4) | 11.7 (100.0) 55.0
571/ 578 0 (0.0) 3 (15.0) 10 (50.0) 1 (5.0) 0 (0.0) 6 (30.0) 20 (100.0) 62.9
7] 0 (0.0) 0 (0.0) 3 (100.0) 0 (0.0) 0 0.0) 0 (0.0) 3 (100.0) 60.0
AA| | 5 (2.8) 30 (16.7) 76 (42.2) 29 (16.1) 5 (2.8) 35 (19.4) | 180 (100.0) 60.1
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CGE 46y 497 TSt AU LK) Ao thet maHy

¥} (38, FA472D)

T B Me g | & BE Fe | WS we | w39 A7)
1'a mgt 0 (0.0) 1 (10.0) 3 (30.0) 2 (20.0) 1 (10.0) 3 (30.0) 10 (100.0)
1dol4 3dm]gt 1 (4.0) 4 (16.0) 10 (40.0) 6 (24.0) 1 (4.0 3 (12.0) 25 (100.0)

3 3dolit 10wt 1 Q4 6 (14.3) 22 (52.4) 8 (19.0) 1 24 4 (9.5 42 (100.0)

= 10 o) 20w Th 0 0.0 6 (14.3) 17 (40.5) 6 (14.3) 1 24 12 (28.6) 42 (100.0)

E 2094 ol 1 (3.7 6 (22.2) 12 (44.9) 3 (11D 0 (0.0) 5 (18.5) 27 (100.0)
o 2 (5.9 7 (20.6) 12 (35.3) 4 (11.8) 1 2.9 8 (23.5) 34 (100.0)
=74 2 (2.3) 12.5 (14.6) | 358 (417 | 14 (16.3) 3 (3.5 18.5 (21.6) | 85.8 (100.0)
o &y 0 (0.0 1.5 (23.D 2 (30.8) 2 (30.8) 0 (0.0) 1 (15.4) | 6.5 (100.0)

= Ax 0 0.0 0.5 (20.0) 0.5 (20.0) 0 (0.0 0 (0.0) 1.5 (60.0) | 2.5 (100.0)
A 0 (0.0) 6.5 (14.0) | 21.8 (47.1) | 7.5 (16.2) 1 2.2 9.5 (20.5) | 46.3 (100.0)

o | BE/AE 0 (0.0) 1.5 (27.3) 2 (36.4) 1 (18.2) 0 (0.0) 1 (18.2) | 5.5 (100.0)
Atd7ge] 0 (0.0) 0 (0.0) 3.5 (70.0) | 0.5 (10.0) 1 (20.0) 0 (0.0) 5 (100.0)

o s 0 (0.0) 1 (15.8) 3.3 (52.6) 1 (15.8) 0 (0.0) 1 (15.8) | 6.3 (100.0)
7] & 1 (125 | 2.5 (31.3) 3 (37.5) 1 (12,5 0 (0.0) 0.5 (6.3) 8 (100.0)
T 2 (14.3) 4 (28.6) 4 (28.6) 2 (14.3) 0 (0.0) 2 (14.3) 14 (100.0)

AA & A 5 (2.8) 30 (16.7) 76 (42.2) | 29 (16.1) 5 (2.8 35 (19.4) | 180 (100.0)
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GE 47y Yo AP LR AR e Ty BAERAE, 9, 259)
7 B e 2 | 2 nE O e IE TS

A o 8 (6.3) 27 (21.3) 23 (18.1) 7 (5.5 1 (0.8) 61 (48.0) | 127 (100.0) 70.3
E o 1 (1.9 13 (24.5) 14 (26.4) 2 (3.8) 0 (0.0) 23 (43.4) 53 (100.0) 68.7
20 2 (3.5 15 (26.3) 10 (17.5) 3 (5.3 0 (0.0) 27 (47.4) 57 (100.0) 70.7
o |30t 3 (5. 9 (15.3) 10 (16.9) 2 3.4 1 (1.7 34 (57.6) 59 (100.0) 68.8
40t 2 (4.0 13 (26.0) 15 (30.0) 3 (6.0 0 (0.0) 17 (34.0) 50 (100.0) 68.5
g |50t 2 (15.4) 3 (23.D) 1 (1.7 1 (1.7 0 (0.0) 6 (46.2) 13 (100.0) 77.1
60tH 0 0.0) 0 (0.0) 1 (100.0) 0 0.0 0 (0.0) 0 (0.0) 1 (100.0) 60.0
AdA s+ 0 (0.0) 11 (44.0) 3 (12.0) 1 (4.0) 0 (0.0) 10 (40.0) 25 (100.0) 73.3
Ar47 1 (20.0) 2 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 86.7
=718 2 .27 13,5 (18.2) | 11.3 (15.3) 3 (4.0 1 (1.3) | 43.3 (58.4) | 74.2 (100.0) 68.1
N R = e g s 0 (0.0) 2 (23.1) 0.3 (3.8) 0 (0.0) 0 (0.0) 6.3 (73.1) | 8.7 (100.0) 7.1
o sH(w ) 1 (6.5 2.5 (16.1) 7 (45.2) 2 (129 0 (0.0) 3 (19.4) | 15.5 (100.0) 64.0
5 |are/a 2 (11.8) 2 (11.8) 6 (35.3) 1 (5.9 0 (0.0) 6 (35.3) 17 (100.0) 69.1
B 0 (0.0) 1 (8.6) 1.3 (11.4) 2 (17.1) 0 (0.0) 7.3 (62.9) | 11.7 (100.0) 55.4
571/ E7H® 3 (15.0) 5 (25.0) 7 (35.0) 0 (0.0) 0 (0.0) 5 (25.0) 20 (100.0) 74.7
71&t 0 (0.0) 1 (33.3) 1 (33.3) 0 (0.0) 0 (0.0) 1 (33.3) 3 (100.0) 70.0
A 2 A 9 (5.0) 40 (22.2) 37 (20.6) 9 (5.0 1 (0.6) 84 (46.7) | 180 (100.0) 69.8
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GE 48) TISHA) A9 e Ao et vk BAAARCAE, F95)

T 2 e 2 = BE Fe e e | R3S A7

1d mfgt 0 (0.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 (0.0) 9 (90.0) 10 (100.0)
1dolAt 3dm|qt 3 (12.0) 5 (20.0) 3 (12.0) 1 (4.0) 0 (0.0) 13 (52.0) 25 (100.0)

3 3dolA 10dwm] gt 3 (7.1 9 (21.4) 5 (11.9 1 @24 1 24 23 (54.8) 42 (100.0)
= 10904 20 H) gt 0 (0.0 8 (19.0) 12 (28.6) 3 (7.D 0 0.0) 19 (45.2) 42 (100.0)
k 20 o]AF 3 (11.1) 8 (29.6) 8 (29.6) 2 (1.4 0 (0.0) 6 (22.2) 27 (100.0)
F8H 0 (0.0) 9 (26.5) 9 (26.5) 2 (5.9 0 (0.0) 14 (41.2) 34 (100.0)
=7 3.5 4.1 16.5 (19.2) | 11.3 (13.2) 5 (5.8 1 (1.2) 48.5 (56.5) | 85.8 (100.0)
o2y 0 0.0 1.5 (23.1) 0 0.0 0 (0.0 0 (0.0 5 (76.9) | 6.5 (100.0)

= Axl 0 (0.0) 1 (40.0) 0 (0.0) 0 (0.0) 0 (0.0) 1.5 (60.0) | 2.5 (100.0)
A 2.5 (5.9 9 (19.4) | 20.8 (45.0) 3 (6.5 0 (0.0) 11 (23.7) | 46.3 (100.0)

4 | BB/AE 1 (18.2) 1 (182) | 0.5 0.1 0 (0.0) 0 (0.0) 3 (54.5) | 5.5 (100.0)
Atd7de] 1 (20.0) 1 (20.0) 1 (20.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0)

™ s 1 (15.8) 3 (47.4) 1.3 21.D 1 (15.8) 0 (0.0 0 (0.0) 6.3 (100.0)
7] e} 0 (0.0) 2 (25.0) 2 (25.0) 0 (0.0) 0 (0.0) 4 (50.0) 8 (100.0)
] 0 (0.0) 5 (35.7) 0 (0.0) 0 (0.0) 0 (0.0) 9 (64.3) 14 (100.0)
A A A 9 (5.0) 40 (22.2) 37 (20.6) 9 (5.0) 1 (0.6) 84 (46.7) | 180 (100.0)
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A 6 A AAN Bok wEHRY §84

T = N 4 4=(1007)
AFAA g o] ek 584 170 75.2
Zr 3=l 584 WUt 2AeEEA 173 84.3

2 AsE e 165 82.1
AR 173 79.8
AL 157 79.2
ArA LY (HA) e} 170 78.6
AP or A B A 163 77.4
717124 155 73.9
e =iy 168 73.6
FollEd e 150 72.4
2235 156 70.6
2 Qg% 157 69.4
Q17t&-st 164 68.3
AY-Z7] 153 67.3
At g-EA S 158 65.4
B A5 147 65.0
2+ 1485t 153 64.6
B9t 146 64.2
ZEH A 157 61.3
~FaA el st 140 59.4

x A91d4)) x 1004
( > (Si < Ni)
NX Ts

. =z o A o
N: & 3894+ - 789

)< 100)

*Total Score =

5
TS = (@ 2985 x 2 SYA D)9 FA / AA $EAS

Si: Score at each cless(5 for class 1 and 1 for class 5)

Ni: Number of respondents at each class
Ts: Top Score
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GE 505 Y918 Hob WY AWA G844 (B8, A%, £49)

T B 1 2 3 4 5 6 A
A o 29 (22.8) 45 (35.4) 35 (27.6) | 11 (8.7) 0 (0.0 7 (5.5 | 127 (100.0)
E o 7 (13.2) 25 (47.2) 16 (30.2) 2 (3.8 0 (0.0) 3 (5.7 53 (100.0)
20t 9 (15.8) 27 (47.4) 15 (26.3) 4 (7.0) 0 (0.0 2 (3.5) 57 (100.0)
o |30t 8 (13.6) 21 (35.6) 21 (35.6) 4 (6.8) 0 (0.0) 5 (8.5) 59 (100.0)
40dh 11 (22.0) 19 (38.0) 13 (26.0) 5 (10.0) 0 (0.0) 2 (4.0) 50 (100.0)
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=4 4 (4.7 28 (32.6) | 36.3 (42.3) 3 (3.5) 0 (0.00 |14.5 (16.9) | 85.8 (100.0)
o8 1 (15.4) 3.5 (53.8) 1 (15.4) 0 (0.0) 0 (0.0) 1 (15.4) | 6.5 (100.0)
ES Az 1 (40.0) 0.5 (20.0) 0.5 (20.0) 0 (0.0) 0 (0.0) 0.5 (20.0) | 2.5 (100.0)
N 5 (10.8) | 19.5 (42.1) | 10.3 (22.3) 1 22 0 (0.00 |10.5 (22.7) | 46.3 (100.0)
A [ BE/AT 1 (18.2) 1.5 (27.3) 3 (54.5) 0 (0.0) 0 0.0) 0 (0.0 5.5 (100.0)
A7 1 (20.0) 1.5 (30.0) 1.5 (30.0) 0 (0.0) 1 (20.0) 0 (0.0) 5 (100.0)
. s 1 (15.8) 1 (15.8) 3.3 (52.6) 0 (0.0) 0 (0.0) 1 (15.8) | 6.3 (100.0)
71 0 (0.0) 3.5 (43.8) 4 (50.0) 0 (0.0) 0 0.0) 0.5 (6.3) 8 (100.0)
o 2 (14.3) 7 (50.0) 4 (28.6) 0 0.0 0 (0.0) 1 (7.1 14 (100.0)
a4 & A 16 (8.9) 66 (36.7) 64 (35.6) 4 2.2 1 0.6) 29 (16.1) | 180 (100.0)
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(E 67y Tistae] AGogRer B8}

3 95 2o

T 2 e & = HE S5 | We Rs | ¥ A i
A o 13 (10.2) | 37 (29.1) 21 (16.5) 8 (6.3) 0 (0.0) 48 (37.8) | 127 (100.0) 73.9
£ o 6 (11.3) | 13 (24.5) 14 (26.4) 1 (1.9 0 (0.0) 19 (35.8) 53 (100.0) 74.1
20 8 (14.00 | 16 (28.1) 9 (15.8) 2 (3.5 0 (0.0) 22 (38.6) 57 (100.0) 77.1
o] |30t 3 .(5.D 12 (20.3) 14 (23.7) 3 (5.1 0 (0.0) 27 (45.8) 59 (100.0) 69.4
40ty 3 (6.0 20 (40.0) 10 (20.0) 3 (6.0 0 (0.0) 14 (28.0) 50 (100.0) 72.8
F 500 5 (38.5) 1 (7.7 2 (15.4) 1 (7.7 0 (0.0) 4 (30.8) 13 (100.0) 82.2
60th 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 80.0
LA oAy 5 (20.0) | 10 (40.0) 4 (16.0) 0 (0.0) 0 (0.0) 6 (24.0) 25 (100.0) 81.1
AP 2 (40.0) 1 (20.00 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 93.3
4718 2 2.7 16 (21.6) |16.8 (22.7) 1 (1.3) 0 (0.0) 38.3 (51.7) | 74.2 (100.0) 70.6
4 | EATAy7E 1 (115 3 (34.6) 1.3 (15.4) 1 (11.5) 0 (0.0) 2.3 (26.9) | 8.7 (100.0) 72.6
ek ¢) 3 (19.4) 5 (32.3) 2.5 (16.1) 2 (12.9) 0 (0.0) 3 (19.4) | 15.5 (100.0) 74.4
& a7z 2 (11.8) 6 (35.3) 4 (23.5) 1 (5.9 0 (0.0) 4 (23.5) 17 (100.0) 73.8
B 0 (0.0) 1 (8.6) 2.3 (20.0) 1 (8.6) 0 (0.0) 7.3 (62.9) | 11.7 (100.0) 60.0
571/ 578 4 (20.0) 7 (35.0) 3 (15.0) 3 (15.0) 0 (0.0) 3 (15.0) 20 (100.0) 74.1
7] 0 (0.0) 1 (33.3) 1 (33.3) 0 (0.0) 0 (0.0) 1 (33.3) 3 (100.0) 70.0
A A A 19 (10.6) | 50 (27.8) 35 (19.4) 9 (5.0) 0 (0.0) 67 (37.2) | 180 (100.0) 74.0
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CGE 68) TISHA] AR W A5 WaK (3, FATE)

T 2 e g | 2 nE Fe e ge | B8 A4

1'd m)gt 1 (10.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 (0.0) 8 (80.0) 10 (100.0)
1dol 3dn|gt 4 (16.0) 4 (16.0) 4 (16.0) 1 (4.0) 0 (0.0) 12 (48.0) 25 (100.0)

3 3ol 10wt 1 @24 9 (21.4) 12 (28.6) 3 (7.1 0 (0.0) 17 (40.5) 42 (100.0)
= 10do]AF 209 v 9t 1 @24 16 (38.1) 10 (23.8) 1 @24 0 (0.0 14 (33.3) 42 (100.0)
k 209 ol 6 (22.2) 8 (29.6) 4 (14.8) 2 (1.4 0 (0.0) 7 (25.9) 27 (100.0)
o 6 (17.6) 12 (35.3) 5 (14.7) 2 (5.9 0 (0.0) 9 (26.5) 34 (100.0)
=7 45 (5.2) 18.8 (21.9) 19 (22.D 2 (2.3) 0 (0.0) |41.5 (48.3) | 85.8 (100.0)
o2y 1 (154) | 1.5 (23.1) 1 (15.4) 1 (15.4) 0 (0.0 2 (30.8) | 6.5 (100.0)

= Axl 1 (40.0) | 0.5 (20.0) 0.5 (20.0) | 0.5 (20.0) 0 (0.0) 0 (0.0) 2.5 (100.0)
A 45 (9.7 |16.8 (36.3) | 10.5 (22.7) 3 (6.5) 0 (0.0) |11.5 (24.8) | 46.3 (100.0)

4 | BB/AE 1 (182) | 1.5 (27.3) 0.5 0.1 1.5 (27.3) 0 (0.0) 1 (18.2) | 5.5 (100.0)
Atd7de] 2 (40.0) 1 (20.0) 1 (20.0) 0 (0.0) 0 (0.0) 1 (20.0) 5 (100.0)

™ s 2 (31.6) | 2.3 (36.8) 1 (15.8) 1 (15.8) 0 (0.0 0 0.0 6.3 (100.0)
7] e} 0 (0.0) 4.5 (56.3) 1.5 (18.8) 0 (0.0) 0 (0.0) 2 (25.0) 8 (100.0)
] 3 21.4) 3 (21.4) 0 (0.0) 0 (0.0) 0 (0.0) 8 (57.1) 14 (100.0)
A A A 19 (10.6) 50 (27.8) 35 (19.4) 9 (5.0) 0 (0.0) 67 (37.2) | 180 (100.0)
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CE 69 A &oF 253y A= = Al 2894 distoA e &4 7IHA (S, 97, 259

T B 1 2 3 4 5 6 AA S
3 L3 3 (2.4 24 (18.9) 29 (22.8) 7 (5.5 2 (1.6) 62 (48.8) | 127 (100.0) 65.8
R 2 (3.8) 7 (13.2) 7132 | 5 094 2 (3.8) 30 (56.6) | 53 (100.0) 61.7
204 2 (3.5 3 (5.3) 9 (158) | 4 (7.0) 3 (5.3) 36 (63.2) | 57 (100.0) 57.1
Q|30 0 (0.0) 6 (10.2) 8 (13.6) | 7 (11.9 | 1 (1.7 37 (62.7) | 59 (100.0) 57.3
40tH 3 (6.0) 17 (34.0) 16 3200 | 1 (2.0 0 (0.0) 13 (26.0) | 50 (100.0) 71.9
g |50 0 (0.0) 4 (30.8) 323D | 0 0.0 0 (0.0) 6 (46.2) | 13 (100.0) 71.4
60tH 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 80.0
HAaA sHAy 0 (0.0) 1 (4.0) 6 (2400 | 3 (1200 | 1 (4.0 14 (56.0) | 25 (100.0) 52.7
A 0 0.0) 1 (20.0) 1 (2000 | 0 (0.0) 0 (0.0) 3 (60.0) 5 (100.0) 70.0
A7 2 (2.7 12 (16.2) [203 (27.4) | 45 (6.1) 1 (1.3) | 343 (46.3) | 74.2 (100.0) 64.8
A | BRATE 7 1 (11.5) 2 (23D | 23 (269 | 0 0.0 0 (0.0) 3.3 (385 | 8.7 (100.0) 75.0
tjsh () 1 (6.5) 3 (19.4) 2 (129 | 0.5 (3.2 0 (0.0) 9 (58.1) | 15.5 (100.0) 73.8
& |ar/a 0 (0.0) 2 (11.8) 1 (5.9 3176 | 1 (59 10 (58.8) | 17 (100.0) 51.4
e 0 (0.0) 2 (17.) | 03 2.9 0 (0.0) 0 (0.0) 9.3 (80.0) | 11.7 (100.0) 77.1
TENW/ARNE |1 (5.0) 8 (40.0) 2 (100) | 1 (5.0 1 (5.0 7 (35.0) | 20 (100.0) 70.8
71et 0 (0.0) 0 (0.0) 1 (333) | 0 (0.0 0 (0.0) 2 (66.7) 3 (100.0) 60.0
A B 5 (2.8) 31 (17.2) 36 (20.0) | 12 (6.7) 4 (2.2 92 (51.1) | 180 (100.0) 64.8
L e 4t L E 3. 8%
4. mlES 5. A9 #5514 & 6. Fo%
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CE 70> ALY #oF n%

31,]-1

AFAE = Al 284 distolA 9 &5 7= (FE

-89 -

’ T =
T ® 1 2 3 4 5 6 AR

1d =gk 1 (10.0) 1 (10.0) 1 (10.0) 0 (0.0) 0 (0.0) 7 (70.0) 10 (100.0)
1'dol/ 3dm|qt 0 (0.0) 1 (4.0) 4 (16.0) 3 (12.0) 2 (8.0) 15 (60.0) 25 (100.0)

3 dol 109 m] gt 0 (0.0) 5 (11.9) 6 (14.3) 4 9.5 1 Q24 26 (61.9) 42 (100.0)
o | 10dol 20 m]Rt 2 (4.8 12 (28.6) | 11 (26.2) 2 (48 0 (0.0) 15 (35.7) 42 (100.0)
) 204 ol 1 37 8 (29.6) 8 (29.6) 1 37 0 0.0 9 (33.3) 27 (100.0)
ERCRE] 1 29 4 (11.8) 6 (17.6) 2 (5.9 1 Q29 20 (58.8) 34 (100.0)

=4 2 (2.3) 16.8 (19.6) | 20 (23.3) | 7.5 8.7) 0 (0.00 |39.5 (46.0) | 85.8 (100.0)

o8 1 (15.4) 1.5 (23.1) 1 (15.4) 0 (0.0) 0 (0.0) 3 (46.2) | 6.5 (100.0)

ES Az 0 (0.0) 1 (40.0) 1 (40.0) 0 (0.0) 0 (0.0) 0.5 (20.0) | 2.5 (100.0)
N 2 (4.3) 5.3 (11.5) 4 8.6) | 45 9.7 3.5 (7.6) 27 (58.3) | 46.3 (100.0)

A [ BE/AT 0 (0.0) 2.5 (45.5) 1 (18.2) 0 (0.0) 0.5 9.1 1.5 (27.3) | 5.5 (100.0)
A7 0 (0.0) 1 (20.0) | 0.5 (10.0) 0 (0.0) 0 (0.0) 3.5 (70.0) 5 (100.0)

. s 0 (0.0) 1.3 2LD 2 (31.6) 0 (0.0) 0 (0.0) 3 (47.4) | 6.3 (100.0)
71 0 (0.0) 1.5 (18.8) | 3.5 (43.8) 0 (0.0) 0 0.0) 3 (37.5) 8 (100.0)

o 0 (0.0) 0 (0.0) 3 (21.4) 0 (0.0) 0 (0.0) 11 (78.6) 14 (100.0)

Kk & A 5 (2.8 31 (17.2) | 36 (20.0) | 12 (6.7) 4 22 92 (51.1) | 180 (100.0)

Looe &= 2. &5 3. 2%
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CE T A9 &oF 253 A= =Y Al 484 disto| M &4 7|HA (8, 97, 259
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T B 1 2 3 4 5 6 AA S
g | 9 (7.1 40 (31.5) 48 (37.8) | 10 (7.9) 3 (2.4 17 (13.4) | 127 (100.0) 67.6
R 4 (1.5) 25 (47.2) 12 (22.6) | 4 (1.5 1 (1.9 7 (13.2) | 53 (100.0) 71.7
20tH 2 (3.5) 25 (43.9) 16 (28.1) | 5 (8.8 2 (35) 7 (12.3) | 57 (100.0) 68.0
o |30 3 (5.1) 16 (27.1) 24 (40.7) | 9 (153) | 2 (3.4 5 (8.5 59 (100.0) 63.3
401y 4 (8.0) 20 (40.0) 17 (34.0) | 0 (0.0) 0 (0.0) 9 (18.0) | 50 (100.0) 73.7
g 500 4 (30.8) 3 (23.1) 323D | 0 (0.0 0 (0.0) 3 (23.1) | 13 (100.0) 82.0
60t 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 80.0
A Ay 0 (0.0) 13 (52.0) 6 (2400 | 4 (16.0) | 0 0.0) 2 (8.0) 25 (100.0) 67.8
AFi7 0 (0.0) 3 (60.0) 1 (20,00 | 0 (0.0) 1 (20.0) 0 (0.0) 5 (100.0) 64.0
24718 3 (4.0) 23 (31.0) | 30.5 4L.1) | 6 (8.1) 1 (1.3) |10.7 (14.4) | 74.2 (100.0) 66.6
A |BEAT P8 1 (11.5) 4 (46.2) 3 (34.6) | 0 (0.0 0 (0.0) | 0.7 (77 | 8.7 (100.0) 75.0
s g) 3 (19.4) 4 (25.8) 45 (29.0) | 0 (0.0) 0 (0.0) 4 (25.8) | 15.5 (100.0) 77.4
5 |are/a 0 (0.0) 4 (23.5) 9 (529 | 3176 | 1 (5.9 0 (0.0) 17 (100.0) 58.8
e 1 (8.6) 4 (34.3) 3257 | 0 (0.0 0 (0.0) | 3.7 (31.4) | 11.7 (100.0) 75.0
TENB/ARRIE | 5 (25.0) 9 (45.0) 1 (5.0 1 (5.0) 1 (5.0) 3 (15.0) | 20 (100.0) 78.8
7]et 0 (0.0) 1 (33.3) 2 66.7 | 0 (0.0) 0 (0.0) 0 (0.0) 3 (100.0) 66.7
24 A2 A 13 (7.2) 65 (36.1) 60 (33.3) | 14 (7.8) 4 (2.2 24 (13.3) | 180 (100.0) 68.8
L g &4t 45 3. 1%
4. &S 5. A 5344 e 6. +-3%



GE 72> AN BoF BETHY AFAE £ A 48A dSelAY 25 ANAGRE, FITE)

7 8 1 2 3 4 5 6 7
1d =gt 1 (10.0) 3 (30.00 3 B3O 0 O] 0 (.0 3 (30.00| 10 (100.0)
1dol4 3dm]gt 0 .0 10 (40.0) 9 (B6.O)| 2 @GO 2 (8.0 2 8.0 25 (100.0)
3 3dol4t 10dwRt 2 498 16 (38.1) 15 357 7 167 1 @4 1 @4 42 (100.0)
o | 10deld 208\ 5 (11.9) 13 (31.0) 15 357 2 @8] 0 (0.0 7 (16.7)| 42 (100.0)
k 204 ol 3 (LD 10 (37.0) 8 (2960 0 (0] 0 (.0 6 (22.2)| 27 (100.0)
o 2 (5.9 13 (38.2) 10 294 3 (8.8 1 29 5 (147 34 (100.0)
=4 3 (5] 263 (30.7)) 355 @14 75 @7 0 (0.0]135 (15.7)| 858 (100.0)
o 1 (154)] 2.5 (385) 3 46.2) 0 (O] 0 (.0 0 (0.0 6.5 (100.0)
= A% 1 (40.0) 0 (0.0 1 (40.00f 0 (O] 0 (0] 05 (2000 2.5 (100.0)
iy 5 (10.8)| 183 (39.6)| 85 (183)| 45 O.7ND| 25 64| 75 (16.2)|46.3 (100.0)
d | BH/AT 1 (18.2) 3 (54.5) 1 (182 0 (0.0] 05 O 0 (.00 5.5 (100.0)
ARt 0 0.0 3 (60.0) 1 (200 0 (0.0 1 (20.0) 0 00 5 (100.0)
™ & 1 (158)] 23 (36.8 2 3le)) 0 O] 0 (.0 1 (15.8)| 6.3 (100.0)
7] e 0 ©.0| 55 (68.8) 2 25000 0 O 0 (0| 05 (6.3 8 (100.0)
] 1 7D 4 (28.6) 6 (429 2 (143 0 (0.0 1 (7.1)| 14 (100.0)
A & A 13 (7.2) 65 (36.1) 60 (333)| 14 (7.8)| 4 (22| 24 (13.3)| 180 (100.0)
LS E4E 2 F4 3 0%
4. Mz 5. A9 F4ekA ge 6 R3d
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CE 73) AAA E2oF w8y JIFALE =Y Al distdolA Y &4 7|HA(8E, A", &%)
T B 1 2 3 4 5 6 AA S
g | 13 (10.2) | 34 (26.8) 25 (19.7) | 4 3.1 3 (2.4) | 48 (37.8) | 127 (100.0) 72.7
e 5 9.4) 17 (32.1) 11 (20.8) | 0 (0.0) 0 (0.0) | 20 37.7) | 53 (100.0) 76.4
20tH 7 (12.3) | 17 (29.8) 9 (158) | 0 (0.0) 1 (1.8) | 23 (40.4) | 57 (100.0) 77.1
o |30th 2 34 12 (20.3) 13 (2200 | 3 (5.1 2 (3.4) | 27 (45.8) | 59 (100.0) 65.6
40tH 5 (10.0) | 18 (36.0) 13 (26.0) | 0 (0.0) 0 (0.0) | 14 (28.0) | 50 (100.0) 75.6
g |50t 4 (30.8) 3 (23.1) 1 (1.7 1 (1.7 0 (0.0) 4 (30.8) | 13 (100.0) 82.2
60t 0 (0.0) 1 (100.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (100.0) 80.0
HAdA A 5 (20.0) | 10 (40.0) 3 (1200 | 0 (0.0 1 (4.0) 6 (24.0) | 25 (100.0) 78.9
Ar7 2 (40.0) 1 (20.0) 0 (0.0) 0 (0.0) 0 (0.0) 2 (40.0) 5 (100.0) 93.3
=478 3 (4.0) 19 (256) |13.8 (18.7) | 2 .7 0 (0.0) |36.3 (49.0) | 74.2 (100.0) 72.2
A |EASEHB7H 1 (11.5) 3 (34.6) 13 (15.4) | 0 (0.0 0 (0.0) | 3.3 (38.5) | 8.7 (100.0) 78.8
e gd) 2 (12.9) 4 (258) | 45 (29.00 | 1 (6.5 0 (0.0) 4 (25.8) | 15.5 (100.0) 72.2
5 |da7g/a 0 (0.0) 4 (23.5) 7412 | 1659 1 (5.9 4 (235) | 17 (100.0) 61.5
e 0 (0.0) 2 (17.1) 13 (11.4) | 0 (0.0 0 (0.0) | 83 (71.4) | 11.7 (100.0) 72.0
TE7 W/ AR B 5 (25.0) 7 (35.0) 4 (2000 | 0 (0.0 1 (5.0) 3 (15.0) | 20 (100.0) 77.6
71et 0 (0.0) 1 (33.3) 1(333) | 0 (0.0 0 (0.0) 1 (33.3) 3 (100.0) 70.0
A 2 A 18 (10.0) | 51 (28.3) 36 (20.0) | 4 2.2 3 (1.7) | 68 (37.8) | 180 (100.0) 73.8
1. Wj¢ F5ot e 3, HE
4, mlES 5. A9 F5ahA g 6. F4



GE 74y Q9NN Rol TP AFAE =9 A REANAY 25 AAGEE, FATD)

7 8 1 2 3 4 5 6 27
1d =gt 1 (10.0) 1 (10.0) 0 (0.0) 0 (0.0) 0 (0.0) 8 (80.0) 10 (100.0)
1dol4 3dm]gt 2 (8.0) 8 (32.0) 2 (8.0 0 (0.0) 1 (4.0 12 (48.0) 25 (100.0)
3 3dol4t 10dwRt 3(.D 11 (26.2) 8 (19.0) 1 (2.4 1 24 18 (42.9) 42 (100.0)
o | 10deld 208\ 3 (1. 12 (28.6) 12 (28.6) 1 (2.4 0 (0.0 14 (33.3) 42 (100.0)
k 204 ol 4 (14.8) 10 (37.0) 5 (18.5) 1 3.7 0 (0.0) 7 (25.9) 27 (100.0)
R RGRE] 5 (14.7) 9 (26.5) 9 (26.5) 1 (2.9 1 Q29 9 (26.5) 34 (100.0)
=4 4.5 (5.2) 22.8 (26.6) | 15.5 (18.1) | 2.5 (2.9) 0 (0.0) | 40.5 (47.2) | 85.8 (100.0)
o3y 1 (15.4) 1.5 (23.1) 1 (15.4) 0 (0.0) 0 (0.0) 3 (46.2) | 6.5 (100.0)
= A% 1 (40.0) 0.5 (20.0) 1 (40.0) 0 (0.0) 0 (0.0) 0 (0.0 2.5 (100.0)
iy 5.5 (11.9) | 13.8 (29.9) | 12.5 (27.0) | 0.5 (1.1 2.5 (5.4) | 11.5 (24.8) | 46.3 (100.0)
d | BH/AT 1 (18.2) 2 (36.4) 1 (18.2) 0 (0.0) 0.5 9.1 1 (18.2) | 5.5 (100.0)
A7 1 (20.0) 3 (60.0) 0 (0.0) 0 (0.0) 0 (0.0) 1 (20.0) 5 (100.0)
™ & 1 (15.8) 2.3 (36.8) 1 (15.8) 1 (15.8) 0 (0.0) 1 (15.8) | 6.3 (100.0)
7] e 1 (12.5) 3 (37.5) 2 (25.0) 0 (0.0) 0 (0.0) 2 (25.0) 8 (100.0)
] 2 (14.3) 2 (14.3) 2 (14.3) 0 (0.0) 0 (0.0) 8 (57.1) 14 (100.0)
A & A 18 (10.0) 51 (28.3) 36 (20.0) 4 (2.2) 3D 68 (37.8) | 180 (100.0)
LS E4E 2 F4 3 0%
4. Mz 5. A9 F4ekA ge 6 R3d
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ABSTRACT

Survey on Industrial Hygiene Educational Curriculum and Course in

College and University for Korean Industrial Hygiene Association Members

Kim, Yong Woo

Major in Industrial Hygiene Engineering
Dept. of Mechanical Systems Engineering
The Graduate School

Hansung University

The survey was conducted on the several issues; self assessment of
industrial hygiene knowledge and skills, demand for further education,
and reasons for the demand, obstacles in pursuing furtherer education,
satisfaction with current undergraduate/post graduate IH curriculums,
sufficiency of education in practice and on the introduction of a 3rd
party certification schemes for IH related educational program in the
university and graduate school. The survey was conducted for participants
of the Spring—term Conference of Korean Industrial Hygiene Association
held on April 11, 2013.

Total of 180 answered questionnaires were collected. Number of
male was 127(70.6%) and female 53(29.4%). Number of 57(31.7%) were
from twenties, 59 from thirties, 50(27.8%) from forties, 13(7.2%) from
fifties and 1(0.6%) from sixties.

Around 20% answered their knowledge and technique are enough to
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perform industrial hygiene tasks while 39% answered moderate and 40%
answered insufficient. The percentage of participants wanting further
studies on industrial hygiene were 76% and 13.5% did not agree. Results
of reasons for undergraduate or post graduate level of education showed
57% for improving knowledge and skills, 19% for gaining social networks
and 14% for acquiring degrees.

As for the question whether they find their industrial hygiene related
undergraduate/post graduate educations helpful in carrying out tasks, 51%
answered yes for undergraduate and 69% for post graduate. 27.8% were
satisfied with the industrial hygiene curriculum at universities, 55.6%
answered moderate, and 16.7% were unsatisfied. For graduate schools’ TH
curriculum, 42.9% were satisfied, 46.9% moderate, 10.2% unsatisfied.

$55% strongly agreed with the need of a 3rd party certification
system for undergraduate IH related curriculum, where 42% answered
moderate, 2.6% answered the need for the certification system is low.
With certification for post graduate IH related curriculum, 17% strongly

agreed, 44% agreed, 31% moderate and 8% answered low.

(Keywords]  industrial —hygiene education, occupational hygiene

education, industrial hygiene curriculum, industrial hygiene course
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